1)
2)
3)
4)
5)

H21

21 9 4

(

1 (2

BP

)
)

H22 3 26

8

(16

« )2 )1
20518
231 10028 10259
50 9141 3g1/3g1 9269 09
1269 7618 21 9142
tt=1m
)
3 15.845 rjﬂ = 16.099 o)
E & 5
IN| & 5| g
g 5 2l ol 8 g g
hE 889 I
13.578 S o 192
gl
13.81:
3| 3|
3|
g 1781 ‘ 2153 ‘ 2601 333 e o 8
EEs 914] 8944 8 2 “ g
“l 4472 4472| ©| 8|
< 5000 1000, 1500
T
24 29
gl 0 1
8 7.456 l% iﬂ 7.456 8
o g g
g| Lg| g g
& = & L.258 =5
© 600 9 600
1=6.0n , n=56 L=6.0n , n=56
50q] 13 x_1500 = 19500 09 50l 2500 | 1750 | 1750 [750)
21100 7500

58

50cm




‘el LR
"I F 5

FEEL 4 ND

B o
" = g X 1V
= panp
a

i
-
i
g age | O
L F] M
. .
. "
-.
IIIIIII B
albelauy | Li
]
=rams Ll
w
L
"
ik LI
Tmr wm®
- .
L

]
Fm
L

e et i i

————

=TI

LK.
T ] HATHIN A

il T WL

w0
il THLEAL Al






